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Find the partial derivative 7
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z = x3y4 + 2y

Find the partial derivative of z with respect to x



z = x3y4 + 2y2

Find the partial derivative of z with respect to x
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Find the partial derivative of z with respect to y



Find the partial derivative of z with respect to y
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The partial derivative of g—i with respect to x is called the
second partial derivative of f with respect to x.
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The partial derivative of g_zj; with respect to y is called the
second partial derivative of f with respect to y.
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The partial derivative of % with respect to y or the the partial
derivative of g—i with respect to z is called a second mized

partial derivative.
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z = x3y4 + 2y

Find all four of the second partial derivatives.



z = x3y4 + 2y

Find all four of the second partial derivatives.
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z = x3y4 + 2y

Find all four of the second partial derivatives.

0z 0z
9 32y 8_y = 4x3y° + 4y

0?2 0




z = x3y4 + 2y

Find all four of the second partial derivatives.
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z = x3y4 + 2y

Find all four of the second partial derivatives.

0z 0z
9 32y 8_y = 4x3y° + 4y

0%z _2
0xdy Oz

(4x3y3 + 4y) = 122%¢°



z = x3y4 + 2y

Find all four of the second partial derivatives.
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Find all four of the second partial derivatives.
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